WORKSHEET — SOLVE A QUADRATIC EQUATION USING
THE QUADRATIC FORMULA BRI EI E e SN L=

Solve using the quadratic formula.

a. m*+2m-3=0
b. w2-5w+6=0
c. x2+2x+1=0
d. h2—6h +9=0
e. s+s+1=0

f. 3u?+3u-6=0
g. 2d’+4d -6=0
h. 2q°+8q +8=0
i. 3k¥+k+2=0

j. 3x2=12x-15=0
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KEYS |
a. m*+2m-3=0
—b +Vb? — 4ac
m =
2a
-2+ \/22 — 4(1)(=3) Plugina=1,b =2,and c = -3
m =
2(1)
—2+V4A+12 Multiply
m =
2
—2++16 Add
m=———
2
_ —2+V16 _ —2-16 Split + into + or -
= orm = >
—-2+4 —-2—4
m = or M. = Take the square root
2
m=1lorm=-3 Simplify
b. w>—5w +6=0
_ —b+Vb?—4ac
W= 2a
—(=5) +/(=5)2 — 4(1)(6) Plugina=1,b=-5,andc =6
w =
2(1)
_ 5+v25-24 Multiply
W= 2
5+V1 Add
w=——o
2
54+V1 5—/1 Split + into + or -
W= orw=——
2
5+1 5-1 Take the square root
W= orw=



WORKSHEET — SOLVE A QUADRATIC EQUATION USING

=3orw=2

Simplify

x2+2x+1=0

—b +Vb? — 4ac
X =
2a
—2+./22-4(1)(D) Plugina=1,b=2,andc=1
x= 2(1)
—24+V4—4 Multiply
X=—7"
2
—24+40 Add
X=—
2
—2+0 —-2—/0 Split + into + or -
X = orx=
-2+40 —-2-0 Take the square root
X = orx =
2 2
x=-1 Simplify
d. h2—=6h+9=0
= —b + Vb? — 4ac
a 2a

p = —C6) £ V(=6)2 —4D)(9)

2(1)
, _ 6+V36-36
B 2
6 ++/0
h =
2
6 +0 6 —0
h= > orh= >

Plugina=1,b=—6,andc =9

Multiply

Add

Split & into + or -
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Take the square root

Simplify

e. s2+s+1=0

_—bi\/bz—4ac
$= 2a
_-1+12-4()(D)
T 2(1)

-1+V1-4
s=———FF

2

-1+v-3

ST

No real solution

Plugina=1,b=1l,andc=1

Multiply

Add

f. 3u?+3u-6=0

—b + Vb?% — 4qac
u=
2a
_ —34./32-4(3)(-6)
“= 2(3)
—34+/9+72
u =
6
—3++/81
Uu=——
6
-3 ++/81 -3 -+81
u= oru=
6
-349 -3-9
u= oru=

u=loru=-2

Plugina=3,b=3,andc = —6

Multiply

Add

Split + into + or -

Take the square root

Simplify
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g. 2d’+4d-6=0

Q= —b + Vb? — 4ac
- 2a
—4 + \/42 — 4(2)(—6) Plugina=2,b=4,and c = —6
- 2(2)
i —4++/16 + 48 Multiply
B 4
—4 +64 Add
d=——""—
4
-4 ++64 -4 —/64 Split + into + or -
d= ord=
4
—4+8 —4-8
d= ord = Take the square root
d=1ord=-3 Simplify
h. 2q°+8q+8=0
_ —b*xVb?—4ac
1= 2a
-8+ ,/82 —4(2)(8) Plugina=2,b=8,andc =8
T 22)
—8++64 — 64 Multiply
q= Z
—-84++0 Add
=74
-8++0 -8 —-40 Split + into + or -
g=—-"9o0rq="—"T—
4 4
—8+0 —8-0 Take the square root
g=—p—ora=—,
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q=-2 Simplify
i. 3k¥+k+2=0
§ = —b +Vb? — 4ac

B 2a

~1+.,/12=4(3)(2) Plugina=3,b=1,andc =2

k= 2(3)
. —1++1-24 Multiply

B 6
P ++v-23 Add

6

No real solution

3x2-12x—-15=0

—b ++Vb?% — 4ac
2a

_ —(-12) +/(-12)* — 4(3)(-15)

2(3)

12+ 144 + 180
B 6

_12++324
B 6
12 ++324 12 — V324

orx=
6 6

X

X

X

12+18 12—-18
orx=

X=

x=5o0rx=-1

Plugina =3,b = —12,and c = —15

Multiply

Add

Split + into + or -

Take the square root

Simplify
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